RANGED WEAPONS

It’s hard to kill zombies with arrows. They often have to be shot multiple times before they
die.

Point arrows from the empty boxes into the grid, so that each numbered square is the target of that many arrows.

Example
PN
21213 N|2|2]|1 38|/
5/5/25 =|5|5|2|5|«=
413112 N|4/38|1 2/
41524 S|415]2] 4|
AN
4.3/4|6]5 3 313,244 2
3 3/ 6|45 3 314,32 2,5
2,231 1 4 4141110112
412,110]13) 2 5401102
512223 4 3/3/2 01 3
2121412132 41513 414 5
21214162 2 3. 2/65]214 1
3 3/3|]1]3]2 312,231 2
5 62|23 6 4111411131
412,312,381 2,414 1413) 2
213|462 2 41116431
3 4/ 6|45 3 3134 413 3




